Ch Rotating Around AXxis Name:

Rotate each shape. Answer asthe new coor dinates. Answers
7 1. x1=1xcos(60) - 4xsin(60) \
6 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60) .
_ [ Ll 2. x1=1x0.5 - 4x0.87 '
Rotation Formula __‘ - T y1=1x0.87 + 4x0.5
X1 = xxcos(6) - yxsin(9) \ 3 x1=05-3.48 2
AL SR o Ees ) ; : y1=0.87 +2
In the example to the right the AN ; 4. x1 :_'2'98 3,
shapeis at coordinates (1,4). NN P _ yl=287
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° itisat (-2.98, [[|| 4.
K 2.87). /
1) Rotate the shape 76° around the point 2) Rotate the shape 192° around the point
(0,0). (0,0).
)
&)
3) Rotate the shape 290° around the point 4) Rotate the shape -62° around the point
(0,0). (0,0).
K
)
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ﬂh Rotating Around Axis Name: Answer Key

Rotate each shape. Answer asthe new coor dinates. Answers
4 _ 1. x1=1xcos(60) - 4xsin(60) \
0 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60) (2 7.-6 6)
1. 7Y
_ e ‘ 2. x1=1x0.5 - 4x0.87
Rotation Formu_la __‘ ISt y1 = 1x0.87 + 4x0.5
Xll_‘)f:;cr’ige)) . y::ons((ee)) \ 3, x1=05- 348 2. _(-1.8,-3.7)
yl= y : - y1=087+2
In the example to the right the AN 3 4. x1 :_'2'98 3. (-1.3,-0.6)
shapeisat coordinates (1,4). NN RN ' yl=2.87
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it is at (-2.98 , 4, (121_4 1)

\_ 2.87). Y,

1) Rotate the shape 76° around the point 2) Rotate the shape 192° around the point
(0,0). (0,0).

(1-4)

3) Rotate the shape 290° around the point 4) Rotate the shape -62° around the point

(0,0). (0,0).
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